238A

3
¥

oS olails aU
R R R S S R R R R A S 7

%

g
4
<

K

Al peac pPLY bl g Pel Sflon Syl sl oSG ST

a8 IY/Y ‘\( (55) (phosss ol

gt et (g e
Gy Sl e 25

-:E{;ﬂ

R

2 el | e Bl

[ VAP Jhom S 10 dwguili by il )15 sloo 398 (59939 3903 ]

R

-
ol

R

[ IYPY S o il 30 uiige ]

= rses ==
o AEE3 VPO 1 il G 17 s 2l %’
ie-\ B

B
I IR —_———= . A — el

RERIBIRGIE

u'}“j.-.l aJLLur ,n.'.ﬂnl.u '._.FJL:Lm‘ ﬂls..n IJ'}'“:

o ke U] oglas 3 | i 2hiad el 2l iy
T 1 . {medil) | meaadei g ogas nliy
&
¥
q
|

P
]

R

g skl o ol s o alas « (7 g1} g il 3) Solunil
{ialassl

=
L T
T r. (1 b jlos ki 3 7l anglin) ool SilSn
Y
Y
Y

¥
LA
L m

ey la il Sl

1
v
r
Koyt g gigleyin | F
&
F-

)9 (s b pad yge3l o
i jlme s_rLu.al;,....}th 31 ealaiiwl

%%@%@@@@ﬂﬂ@ﬂ@@@ﬂ@ﬂ

RIRDRG[RGIRIS

A
'V g 38y O il cadlobie b gl e o el cul fema b LT Sadion g iyl pallad oy .\_,J H oot G il b gy oo Wi aadly wlli iy i

-
]

'{

E



¥ ks 238A (YPY 08) b zeilpan )0 puwsidigen 33031

k) rna i g oot (31

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1- By signing these papers, I agree to not ———- any of my company’s financial records to
anyone outside of my firm.
1) authorize 2) articulate 3) divulge 4} victimize

2-  Without an antidote to treat the patient, the poisonous snakebite would prove ------- -
1} vulnerable 2) fatal 3) massive 4) extreme

3-  Stifling a yawn, Jackie covered her mouth as she listened to one of her mother’s -—-——
stories about her childhood.

1} interminable 2) credible 3) widespread 4) hteral

4-  After learning the lawyer accepted a bribe, the committee decided to ——-- him and
suspend his license.
1} encounter 2) retaliate 3) underestimate 4) rebuke

5-  The government will —-—-- any property that has been purchased with money earned
through illegal means.
1) resist 2) seize 3) eliminate 4) avoud

6-  Now that | have got another offer of employment, which sounds as good as the earlier
one, [ am in a ——-———-- as to which one to choose.
1) necessity 2) comparison 3) postponement 4) dilemma

7-  Since there is a huge -———-- between the results of the first and second experiment, the
laboratory team will conduct a third test.
1) discrepancy 2) autonomy 3) randomness 4) opposition

8 To get a good grade on the research project. you must -——-- vour report with provable
facts.
1) inforin 2) outline 3) substantiate 4) interfere

9-  We thought that the power cuts were temporary and would end but we have now
realized that this is 4 ——---—- problem and will never end.
1) chaotic 2) perennial 3) fragile 4) memorable

10- Ifa -—— -— answer can provide the information requested, there is no reason to bore a
person with a long response.
1) boundless 2) conceptual 3) concise 4) logical

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3). or (4) best fits
each space. Then mark the correct choice on your answer sheet.

It 15 very easy to lead someone’s memory astray. For example, 1f | witness a traffic
accident and (11) ==-=-mmm- whether the car stopped before or after the tree. | am much
more likely to “insert” a tree into my memory of the scene, (12) ---—— no tree was
actually present. This occurrence reflects the fact that when we retrieve a memory, we
also re-encode 1t and during that process it 15 (13) ——-—-— errors.
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Elizabeth Loftus at the Umversity of California, Irvine, and colleagues have shown
that this “misinformation effect” can have huge implications for the court room, with
experiments (14) ——--- - that eyewitness testimonies can be adversely influenced by
misleading questioning. Fortunately, these findings also suggest ways for police,
lawyers and judges to frame the questions (15) === -- they ask in a way that makes
reliable answers more likely.

11- 1)1 am later asked  2) later asking 3) to be asked later  4) later asked
12- 1) even then 2) so even 3)asif even 4) even if
13- 1) a possibility implanting 2) possible to implant
3) possibly to implant 4) possibility of implanting
14- 1) are repeatedly demonstrated 2) repeatedly demonstrating
3) that are demonstrated repeatedly 4) to demonstrate repeatedly
15- 1) that 2) when 3) because 4) even though

PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice
(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

There is no globally adopted operational definition for drought applicable to all
contexts, This 15 the primary reason why policy makers, resource planners, and other
decision-makers as well as administrators have considerable difficulty recognizing and
planning for drought than they do for other disasters. Global Assessment Report notes
that agricultural drought is probably the most "socially constructed" of all disaster
risks and warns that due to global climate change. its frequency is expected to vary
much. To determine the beginning of drought, operational definitions specify the
degree of departure from the long-term average of precipitation or some other climatic
variable.

Drought 15 a phenomenon that 1s widely considered as a “creeping disaster”. Unlike
the suddenly occwrring disasters, a drought may develop very slowly over several
months affecting very large geographical area without causing little or no structural
damage.

Mostly, the occurrence of droughts is a result of natural climate variability in all the
drought-prone regions and 1t usually exhibits a certain pattern of occurrence. While
droughts are quite frequent in arid and semi-arid regions, it can occur even in humid
regions blessed with abundant rainfall with lower frequency. The capacity to cope
depends largely on the technical, institutional, political, and social mechanisms to
manage the water resources anticipating the severity of the drought, Effective
mitigation measures must prevent a drought turning into a famine due to water and
food shortages.

16- You can infer from the passage that —--——--——--—,
1) there 15 no operational definition of drought
2) the drought defimition varies from region to region
3) experts have more trouble recognizing all disasters especially drought
4) drought has more devastating effects than the other disasters
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17-

18-

19-

20-

What is the author’s purpose of mentioning “creeping disaster™?

1) A disaster occurs suddenly with the most damaging effects.

2} A disaster whose onset, end and seventy 15 difficult to determine.

3) A phenomenon covers most situations and geographical areas.

4} A phenomenon causes little or no serious destruction.

The global climate variability according to the passage, —-—-——- .

1) prevents a drought turning into a famine

2) anticipates the seriousness of the drought

3) increases the recourrence of agricultural drought

4) takes place largely in the and and semi-and areas

Which sentence, according to the passage, is NOT true?

1) Among all disaster risks, the most socially constructed one is drought.

2) The regions having a lot of rainfall can also face with drought disaster.

3) Managing the water resources is a major way deal successfully with drought,
4) Drought 15 a temporary phenomenon related to the failure of usual precipitation.
The word “mitigation™ in the last line of passage means -———-——- .

1) augmentation 2) reduction 3) simulation 4) tolerance

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space, Then mark the correct choice on your answer sheet.

21-
22-
23-
24-
25-

The environmental view of sustainable development emphasizes preserving the
dynamic ability of biological and physical systems to adapt to change. While disasters
may be beyond human (21) -----—- . the probability of their occurrence may be affected
through human actions,

Accelerated changes m demographic and economic (22) ====---- have disturbed the
balance of ecosystems. The failure to limit environmental degradation resulting from
human (23) ------— increases the vulnerability to risks posed by natural hazards. There
are examples of uncontrolled urban development, combined with deforestation and
dumping of wastes into rivers and canals, which have led to increased runoff and
heavy flooding. Many of the same actions that preserve the ability of systems to adapt
to change also increase (24) ------—- to external shocks or extremes in the environment
such as natural disasters. This interconnection between natural resource degradation
and increased vulnerability to natural disaster emphasizes the need for (25) —-—-----
measures.

1) control 2) endeavour 3) experience 4) imagination
1) facilities 2) priorities 3) purposes 4) trends

1} interdiction 2) interrelation 3) interpretation 4) intervention
1) fluidity 2) perseverance 3) resiliency 4) rigidity

1) controversial 2) impenetrable 3) preventive 4) stimulating



B caami 2384 (YPY o8 pruds guilams 30 puwdigen (3303

Directions: In the 5 following questions choeoses the answer which best completes

technically each individual item.

26- Disaster management doesn’t avert the threats; instead it focuses on creating plans to
decrease the effect of disasters. “avert”™ means -——-----—-—- A
1} eliminate 2) hesitate 3) insert 4) reveal

27-  Considerable attention has been given in recent years worldwide to the potential of
remote sensing satellite data for providing useful -------——-- in all phases of the disaster
management cycle.
1) tendency 2) persuasion 3) dispensation 4) assistance

28  An importani aspect of effective recovery efforts is taking advantage of a window of
opportunity for the implementation of mitigating measures that might otherwise be

unpopular. “implementation™ means —-------—--- .
1) reckoning 2) magnificance 3) forecasting 4) execution

29-  Construction of engineered structures in the flood plains and strengthening of structures
CAN ——====== —-- flood forces and seepage.
1) withstand 2) segregate 3) distribute 4) collide

30- Man-made hazard are due to human --—--———--- and associated with industries and
include explosions, leakage toxic waste, pollution and etc.
1) aggravation 2) negligence 3) regression 4) restriction
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